
Derivative Proficiency
Oct 25th MATH 251 Fall 2017

Circle your Instructor: Faudree, Williams, Zirbes / 15

Name:

This is a 30 minute quiz. There are 15 problems. Books, notes, calculators or any other aids
are prohibited. Calculators and notes are not allowed. Your answers should be simplified unless
otherwise stated. They should begin y

0 = or f 0(x) = or dy/dx =, etc. There is no partial credit. If
you have any questions, please raise your hand.

Circle your final answer.

For each function below, find the derivative.

1. g(x) = 2x3.2 �
p
3x+ e

4

2. F (✓) = 2✓ tan(✓)

3. f(x) = 4x + csc(8x)

v-1 UAF Calculus 1

Solutions Zirbes

= 2×3.3+3 ×
"z

+ ey

9747--6.4×2.2-23=-947--6.4×22-53,251
94×7=6.4×2.2-5

tto)=2tanO+2osec2#F'lo)=2(tanO-oseEoI_f@=lm4)4×#8#ctC8x)]
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4. y = �9p
x2+16

5. h(x) = (2x+ 1)(4� x)5

6. y =
p
2
3 � 1

3x + x
5

7. F (x) = ex

x2�x+1 (Use the Quotient Rule.)

v-1 UAF Calculus 1

=
- 91×2+165 "2

Ytc9I@3yt-9ftzHx2tlb5k.Zx

y'=9x(x2t16J#

FEET

NETFLIX.ES#yfgyy@yhEesEitraahiFseEnEEEuwqneah'W=(4-xj4(z(y.x,.sax=h'H=3(l-4x)l4-xh'lx)=(4-x)4(z.12f

These will be the only
accepted versions on the

=

Ez ⇒ ×
' '

+ §×

retake .

y'=zt52+ygf
y'#5W*'y'=5E3zx2_f↳×

F 'lX)= 1×4×+110=2×-1 )
( ×2 - X + 1)

2

= e×(=xt2xt )
1×2 - × + 1)

2

=exixeIIn±€
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8. z = t3�9t+4p
t

9. y = 15x4/3(x+ 2)

10. G(x) = ln
⇣

xex

(x2+1)3

⌘

11. h(x) = x(lnx)(cosx)
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g
DO NOI use the

quotient rule !

=*It¥÷

.IE?It4az'=szEm-z9q-#zz'=5zt32-z1Ek-zE3zz'=sIIIEIatt-FzEz'=5tgf,9t@

= 15×73 + 30×413

y
'

= 151713 ) ×%+30 (413) × "3

y=35x4B+4o×"3f
C- this is good enough .

yE5xBl7x@tlnxtmex-3lnlx2-DGkXKlYI-x6n-lnx-X-3lnlx2tDCilxs-xt-l-x6xf-x2tltxlx4D-6xxlx2tD-x3xibxxITyAhkxI-Hnx1cosxtx.tx

cos X + xlnxtsinx )

t.dk/)luosx)trosx-xUnD(sin#Tl

gave credit for + × lnxfsinx )
in the last term .



Derivative Proficiency
Oct 25th MATH 251 Fall 2017

12. H(x) = arctan(e2x)

13. f(x) = (x+ sec(9x))�3 [You don’t need to simplify, but use parentheses correctly.]

14. g(x) = xe
1/x

15. Find dP/dr for P = A arcsin(cr) + 2Ac where A and c are fixed constants.
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HtD-Hzgz.2e4.exEftxt-3lx-secCaxD-4Cl-9secC9xtanl9xD_tixrattxIsIYaxIFm@9tXKleN-xe4.l

- t x
-

2)
=

ew.it#=eYx-e@=eYx(1-Yx=ey@Fr=AIEie

to

f÷=÷€
*=,IE@


